
Esoxcise5A)
.8tato 4 Ao hiangdes aw peistbe cah ho folleorg ngos 

20,40 and 90. - Yes, as HoUY sum is 180 

it) A0, rso and 20° No,as heiY Gun is 90 

ii) 60 6o ad so° No, as tho suhei auges ë 1o'. 

125 40 and Is°= yos a tho &m He anples ts80 
2.o glos a iag aue eqpa,fid ik angos. 

dns Tic stum all Hoanglas ef a meangla - J80 
S,an ano a tnango = /80°/6 = 60 
Honce each angke = 60°. 

3. dn a thugo A BC, ZA=4S°ad 2B = 75 fid 2C. 

Aus. Su t apes = )8o°. 
LA + LB: 4s°4 75°= 120°. 

So, LC 180-120= 60° 
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